
Sway Bar End Link Kit
Colorado/ Canyon | 2015-2021
Part #: 121635	 Rev. 050922

491 W. Garfield Ave., Coldwater, MI 49036  .  Phone: 517-279-2135

Web: www.bds-suspension.com  .  E-mail: tech-bds@ridefox.com

INSTALLATION INSTRUCTIONS
1.	 Remove old sway bar end links by loosening and removing (4) 

7/16” nylock nuts. 

2.	 New sway bar end links will be installed in same manner as 
the old were removed. 

3.	 Install new sway bar links (911122) with (8) washers and (8) 
bushings (4805G) as shown. Orient link with machined flat 
closest to lower control arm. Attach with (4) 7/16” nylock nuts 
and 7/16” washers (BP #682). See Figure 1.

4.	 Tighten new 7/16” nylock nuts to 12 ft-lbs. Do NOT over 
tighten the hardware.

FIGURE 1

 

SAFETY WARNING 
BDS Suspension Co. recommends this system be installed by a professional technician. In addition to these instructions, professional knowledge 

of disassembly/ reassembly procedures and post installation checks must be known.

Box Kit

Part # Qty Description

911122 2 Sway Bar Link 

4805G 8 Small Stem Bushing

682 1 Bolt Pack
8 7/16” USS Washer

4 7/16”-14 Nylock Nut


